61

fow foams met-aar, SHT e s a5 Harer-H hht uwemret fos-fes =T o 751 |
fed=t & fwe= 21 o= fog vay o & §-afait &8 a3 a9 7 faor J1gauast o waet
&t as &8 fumerg dtzr 7 faor 11 femmateim foF 39 we wat T fa felfenr e 3t Tor-Satt
T o St T%, Haten & = sufiwr a1 7 faom | 3298 561 3 90 06 »F §-35 o1 95 39 961
HHE =441 © wWeriEwt & o2 Al I erafteor e s o R g8 ad 06 | TaiHEaT e &1 'F
Fo-Tw 7 fag »r gar J fioer my & wie fee 09| 5aet § Aide f s © fagr 91 vee
2TH niF FATF Uds i Tt Beraest fAge faaet & dfant o fieme g= & afg o a5
wAemA et ey fmd it Tt 3

(1) =Uas T 3t T i2) Greafa feaw T famr

g FmE e i e aaH T ufaEt T E T A T (4) wETanE T anEt T

62 | femrratvz fal va aret & wiF der aw fa@ yors 3 famr 37
i1} feT 7g a7 If w7 goag 891 T far @ i2) feT gymmae aan 7 far d
i3} few &fza augr-ava’ &t fow=e a9s T faor 91 (4) Aoare feR & 9a= =Et 99 &4t ad adatl |
683 | yaa =8 fuf v aas fat dta- e @7
(1) ufa="9a I8H 95 i2) faw G39sT a9
(3) FrfeeTe vag 14) faw T3 ArTfeg @96 gad |
&4 |y gTemt e azw fal st after J7
(1) HRH Eiani & Wil 3 o5 82 S8 i2) fed=t & fume awe
(et emEtaeE (e S fewrer faw 59 ares s
85 | gmuarat few watat &7 fad frar saa G dflgrater @7
(1) Hate § WS e=emt fe 3o aisinit 0n 12} femmr BEt =Py Fradt e Gumeg 3
(3) femra wfdar 9 14) W & 7E &8 fugerE & Al
56 | grrer wear € yfi'ht fam P fee Tt e
(1) 227 TR 31F HE HT F41H =49= (=9 i2) wertEnT 7 G 29 ene T
(3) gant ©f TH g9 (4) AW A=T foa Hadt atas aaa
67 | gpafimar & &t "F ot § faar 37
(1) TafHa WAEsT 3 WEES WS B faor (2T T U T faar 7
(3 FF=T e femwr e @ (4) fest fo &%t <1 &t
68 | fagt Ufsmt I d= Wivz afa famr 37
(1) HEd &dFT 3 9312 Uas i 2/ 59 B §H
13) 09H & Baed 14) feqt few @t <t &t
15 fat arfe-fe § fnrs 578 Uz & 98t o3 (&t & o9 @39 9 fem sta 37 o6 (0. 60- |
75)
wWH & THH WO 27 ST
aive 7= fegug g
Ta w3 feare &t wag
JTgEarESieE
&7 dv=T =t aaeT dAnET
&7 = ot #@t=r
H & HTE By GEEr
H&E E8 T |
&9

few arfe—de Shut ufaetst @ gut § Arras =aaw few fai:




(1) a7 & frevs fe Fem o dtmer grareraf o LG UTH

(2) §U B eHW 2+ famr & wid A a2-gHt fea 7F &s afver gvdte a1
3 Fows e s e e mmayslg i d I

i4) FF-TH aT A= BE df 9et 91

0| gargdt v arE-wae mue fagsr 37
_ (1) o=t ggar i2) a=t i3} faaur® i4) Ft <t GAad
71 | fezre o fadth mwe faoer 7
i1)=7 faao i2) fam i3} BfeaArEt 4) igmw
2| G fver <t aaer Aver G At &t At few faw sidere © =33 ot et @7
(1) Fu nidara i2) IHEET WEETT i 3) nif gEEst ndag  (4) WEYE wEET
3| Sy v ag-wEny g e fegt fed faaer sla 37
C yivEmwI ves (2 deH uE efer (3) fagder wE GeEs (4 e e e
74 | §8 wam= F At T o7
(1) HE =aIET i2)v fegwmrgsr (3G9I 0= 4) igen e
75| few arfe-dv few fags ‘an’ € gawa 497
(1) H = an i2) fiars 3w (3 ggar (4) FATST IR
76 | frawt W WET auE il el far@ fitwer &
(1) ufa=t I8 (2} g+t am=r (3) Hg FET (4) 99 FHT
7 | g fagst 7w Ags fed afos aae
(1) v 797 (2) T+t T8 (3} ufast a5 {4) G
T8 | gorum @ oI=es fev faug ow @ fiw & &
(1) pes T8 (2) Fea wgw (3) umgw o (4) Fm= fawe
" | mgs fevd G faud o do= w3 7
(1) 8= u=Zw (2) 8= fou= (3) fouz uzmw (4) Ug& FEm
80 | w7 &9 d9 Owrdl, Terdt 3 TRy O 3 8w & faast e 9=ait
(1) = 787 (2) gt awr (3) ufast = (4) fe=dt I8
8 | gwr st e fdd geas 1
______ o _l[_l}i?:_‘_i___ (2) 94 (3)e (4) Ts
82 | ggr § vz ot fsmmm st at 3 7
(1) Bugmr (2) fait (3) femram=s (4) a2 Bt
83 | gt gur five =t fewraee Wo'a=yes 78 sier @aet & 7
(1) = {2} &t (3} mfew {4) =T w4t
8 | &t gt e fye few vew sadisi as 7
(1)@ (2) fawas wat (3) &g W (4) Brfee
5 |y My sdtaw 3 wWanyes Rigat e d
(1) us yA=a (2) 58w Taw (3) Uwrdtam (4) yEamETST
86 | ny AN few AT F &0 Wa SwyEs os fager
(1) fugea (2) vs yraa (3) feeafeg (4) ¥8= ToF
87 | gfawt &t g v & midar fan 23t uaft At &)
| (1) yrE fet (2)Ueetam  (3) Afe i (4) fenat fedt
BB | miwww & fer e five ot faowh fadt vew a7
1) vetar= = (2) mE=e femt {3) uFy femi (4) aaw fet
89

wiad m e wigee ot faast e 3 7




N ummrmee (D BAEVREREAHEE (4) fowrass maee

30 | mwa A feg o frusmet @t faast fedl st v @t & 7
(1) & FH WiTwmUs (2) ryfaa nifmmms
(3) femEtarg nifmms (4) FEI91 TTI=an wiTwHUs
SECTION - B
MATHEMATICS (BILINGUAL) - 30 QUESTIONS [91-120)
91 | The graph of the eguation ¥ = =4 is a line
(1) paralle] to x-axis |2) parallel to y-axis
| 13) passing through origin {4) none of these
31 | pftees v = =42 gy fow v i
(1) x - WElH © AHT&T ST (2} y- MET & A& 34
(3) HE-fae &8 TvaeT 14} gz fea adt =t =41
92 | The angle of elevation of the sun when the length of a shadow of a vertical pole is equal to its
length is
(1) 607 {2) 457 (3) 307 {4) 180"
92 | gaw <t Guel v &=, A Hiaw i@ 2t usevEr ot 2wt few & duEl € weww 32, &
{1} &0° (2) 45" {2} 90 {4} 180" .
93 | Sum of a number of two digits and the number obtained by reversing the digits of the first number
is 110. If the difference of the digits is 4, then the number is
{1} 62 [2) 73 (3) B4 (4) 51
33 | & wmt =t Afipr 7 A7 wiF ufast Afipr & wiet § G & yrua Afer 110 T A wEt eviET 4 J |
Ft i &
{1} 62 (2) 73 (3) 84 {4} 51
94 | Aand B can do a piece of work in 4 days and A alone can do it in 12 days. In how many days B
alone can do this work?
{1} 5 (2} 6 (3)7 (4)&
M | and g fewdu & 4 fost fow a9 mad 98 w3 A feaer fon § 12 fost fow aa maer e femar |
s T ERas oy W |
95 | A man travels some distance at a speed of 12 km/hr and returns at 9 km/hr. If the total time taken
by him is 2 hrs 20 minutes, then the distance is
| 1{1)}18km (2} 14 km {3} 13 km (4] 12 km |
35| fomr et 12 km/he € THTT 5T GV A T ATET Y W 9 Km/hr € TWTT 5T WUR ATET
# @ & few fog g9 mdt 2 w2 20 fite 2T 32, 3t gt fiSt
{1) 18 km {2) 14 km {3} 13 km {4) 12 km
96 | In a two digit number the digit in ten’s place exceeds the digit in unit’s place by 4. The sum of the
digits is 1/7 of the number, then the digit at the unit's place is
{1} 5 {2} 4 {2} 3 {4)1
36 | & wmt TEt Al feg, eret gt 3 fipwr s ufod wier 3 v &8 a &1 3|t e J9 Al
ar 1/7 &, 3t ufasl gt 3 fumr A 3
{1} 5 (2} 4 {2) 3 {4)1
The area of a square is 64 cm” Then its perimeter is
(1) 64 cm {2) 32 cm {3) 46 cm {4) 48 cm
fem =31 & W=3e® 64 cm' T few & ufawrr &
{1) 64 cm {2) 32 cm {3) 46 cm {4) 48 cm
S8 | The HCF of two numbers is 11 and their LCM is 693. If one of the numbers is 77, then the other

number is
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(1) 88 12]*&‘_*#’“’-n“t"?’“ffmﬁ‘ibf-ﬂm' U [4) None of these

58 | 2 fAfimr=t @ HOF 11 i LOM 693 & 7 Temr Afte 77 3, 3¢ gt Afipr &
{1) 88 {2) 23 i3) 99 (4] femt f=o &6t =t =t
99 | Find the smallest number of five digits exactly divisible by 16, 24, 36 and 54.
{1} 10368 {2) 10432 {3} 10560 {4} None of these
39 | O vt 2vEY 2t 3 221 Afimr gy &3 fAR § 16, 24, 36 w3 54 &8 Y&t FF fawr A A
(1) 10368 (2) 10432 {2} 10560 (4} feet fo &2t = &t
100 | The average of seven consecutive numbers is 20. The largest of these numbers is
. {1} 20 12 22 13} 23 {4} 24
100 | g gfver Afimret € wing 20 &) fegt fod Ae & w9t Afier 3
{1} 20 (2) 22 (2} 23 (4) 24
101 | The volume of the greatest sphere cut off from a cylindrical wood of base radius 1cm and height
5cm is
{1} %tﬁﬂcm‘ {2} ﬂi'i‘?cm‘ (3) B cm® (4) none of these
101 | 1 o fonrAa wid 5 cm B9l @ wrrg =81 dis s ag o 8 48 v afeas &
{1) %{ﬁr’_l.:m’ 1z| 1'ﬁ‘cm’ (3) B cm? (4) fert o &€t <t mat
=
102 | pational expression = * 1 ——in the lowest form is
=gl Al=aE L A Eal ;,’-h,q-:l.
2 T [E’TH W i
plird -4
ﬂsﬂa:‘.ritrm ufaﬂurf:ﬂm S, e 4
=l =-id L Sirdl e
karr = Chr=u L
The circle graph given here shuws the spendlrg -[ln degrees} ofa u:u.rntr\r on various sports during
the particular year. Study the graph carefully and answer the next three questions. (0. NO. 103 -
105)
feq fe'ar feg 9w few felim we dos faw ow =8 fefis vt @w 3% vew (feeet fem) &
wanrger 1 few a3 v fmrs &va wifcits a7 w2 »as f3s ysst & Gae feh
(0. NO. 103 - 105)
103 | What percentage of the total spendlng is spent on tennis?
(1 12%% (2) 22-% (3) 25% (4] 45%
103 gl-'uﬂmft# t[fi'ﬁi'!ﬂ;ﬂ'ﬁ'lﬂmﬂ#ﬂ#
(1) 11;% 2} zz;% (3) 25% (4) 45%
104 | if the total amount spent on sports during the year was Rs. 2 crores, the amount spent on cricket

and hockey together was
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{1) Rs.8,00,000 WA R ITaood T ITen L3114 20,00,000 [4) Rs. 1,60,00,000 |

14 | & v & Sos twt G 1w o aw @ 2 73F 3, I faEe v ot §uw fier & e At
aan At
{1) & 00,000 FUE (2) 80,00,000 W€ (3) 1,20,00,000FU€ (4 1,60,00,000 FUE

105 | If the total amount spent on sports during the year be Rs. 180,00,000, the amount spent on
basketball exceeds that of tennis approximately by

| | 1) Rs.2,50,000  (2)Rs. 3,60,000 {3) Rs. 3,75,000 (4) Rs. 4,10,000
105 | % pves few st Gy 1w o191 5% a0 1,80,00,000 UF T2 mmﬂﬁﬂm;ﬁwﬁﬁn
GuT ota vaw &8 SaEa fdEr €
{1} 2,50,000 FUE {2} 3,60,000 FUE {3) 3,75,000 FUF {4) 4,10,000 FUE
106 | The radius of a sphere whose volume and surface area have same value, is
{1} 1 unit {2} 2 units {3] 3 units {4) 4 units
106 | fem 3% v feormay, AR e orfeas nd AaT Sad o ANB H G o
i1)19fse i2) 2 ufse i3) 3 gfse i4) 4 afse
107 | inthe number 3.4625, the place value of the digit 2 is
(1) 1000 {2} 100 {2) 1/1000 (4) 1/100
107 | 3.4625 Afiwr farg, 2 v e s e O
{1) 1000 {2} 100 {3) 11000 (4} 1/100
108 | Divide 50 by half and add 20. From the same, subtract 35. What do you get?
{1} 10 {2) 8% (3) 15 {4) None of these
108 | co & it a7 2F i fow foa 20 731 8w foF 35 wer fol AT &t yuz aee T
{1} 10 {2) 85 _13)1s ) fegy fog adt S &t

109 | What number should be put in the blank box?

7 5 = 18
& 3 7 21
4 3 9
7 |4 1 24
(1} 9 (2) 27 {3) 36 {4} none of these
109 | wgt v e fagsht Afipr Fy=t wdtet o
7 5 = 18
1] 3 T, 21
4 3 9
7 a8 |24
(1 9 (2) 27 3) 36 (1) femt fow @t = T
| 110 | What is the next number after the fnllumn,g'-’ 4,9, 25, -1'9- ? E = I
1) 64 (2) 81 {3} 100 {4) 121
110 | I fafprt g nEEt Afipr ot 32 4, 9, 25,49, 7
{1} 64 (2} 81 {3) 100 {4) 121
111 | When the numerator of a fraction is increased by 4, the fraction increases by 2/3. What is the
denominator of the fraction?
1) & (2) 7 (3) & (4) None of these

11 | & few faa & e foaa 2o faraier 3, #ﬂxmnw#ﬁﬂlﬂﬁwaﬂﬁmﬁlﬂmﬂ
&

{1} & 2) 7 {3) 8 (4) fegt fod &%t & it
112 | The HCFof [x— 1), (% — T} and {x% — 1] is
1) (x=1) {2) (x*=1) (3)(x*-1) (4) (x+ 1)

12 | {x— 1% —1) wF (x¥— 1) avucrd:
{1) (x =13 {2) (x*=1) 3 x"=-1) @ x+1




113 | The mean of five numbers EH)HJMMHI&J}M: mean is The excluded number is

L [ 11} 20 ) [Z}I 15 . I:J:I ko 4] 34
113 5Mmﬂn=zsEl#hMiﬁf#‘?ﬁ,#Wﬂuﬁ:nmfmm&
(1) 20 (2] 15 {2) 20 (4) 34
114 | How many carats are there in one gram?
(1} 3 2] 4 (3} 5 (4) None of these
113 | fewr apw few [ d9e a5
(1) 3 (2] 4 3] 5 (4) fest fo’ a1 &t
115 | A plot has width of 44 feet and length of 30 feet. What is the size of the plot?
{1} 500 square yards (2} 450 square yards (3) 440 sq. yards {4} none of these
115 | few ume o 9T 44 g2 »id BuTEl 90 §'F J1 USZ E AEE o &
(1) 500 Fa1 3T (2) 450 T3 I (3 TFA I (4) fegt fed a8t = 5t
116 | One of, the students of a class hardly talks in the class. How would you encourage him to express
himself?

{1) By organizing discussions

{2) By organizing educational games/ programmes in which children feel like speaking
{3} By giving good marks to those who express them'selves well

{4} By encouraging children to take part in classroom activities

116 | gmw fov fow fefowradt 593 yefes & g8 1|3mﬂw$mﬁw#mmm
fas’ Gawfaz adar:

T T WIS ad |

i2) fRfymmave Y= /AErHT @ »MEas a4 F (98 59 5827 URT d4¢ 351

(3) 85t & 99 g © & faug sy vy § Seit 397 fenea aae 15

i4) 5fawr & aE R gy astf=u feg fow 8= = ra Ganfog av &)

117 | Success in developing values is mainly dependent upon:

| |{lgovernment (I society (3] family (4] teacher
117 mwmmwﬂaimwm&
(1) Agaa (2] AH i3 ufa=rg (41 miftmuE

118 | Each digit 1, 2,3,4,5,6,7.8 and 9 is represented by a different letter A, B, C, D, E, F, G, H and | but not
necessarily in that order. Further each of A+B+C, C+D+E, E+F+G and G+H+l is equal to 13. What is
the sum of C, Eand G?

{17 (2)9 (3§11 (4) Cannot be determined

118 | JiwWE1,2,3,4,5,6,7, 803 9§ BT A, B, C, D, E F, GHWT | gorar eanrfon famr 3, ug |
agat &t far fegt v g Gt 321578, A+B+L, C+D+E, E+F+G i G+H+l Ted s 13 S wamadhic,
EMd G ST aEt &

(1} 7 12)9 2} 11 (4) feaofaz &4t &g 77 FaeT

119 | Which of the skills do you consider most essential for a teacher?
{1} encourage children to search for knowledge

{2} have all the information for the children

{3) ability to make children memaorize materials

{4) enable children to do well in tests

119 | wifgmrus &6t AF 3 »i< 0E gEad faagt ot &

(1) fefenmadmr & famims ot &9 =61 Garfos a9nr

12) B g B8 Al Feat Uug adar

13) Hfawr feg =ng' § oe 98 = FE

(4) Biaw & UGyt feg 99T US9as a9n & Wal 52 aT

120 | Absenteeism can be stopped by:
{1} Teaching {2} Punishing the students




(3] Giving the sweets __ WWW.FCCF UTT TRPTIAHEE Whe parents

120 | Jagradt § faw adt 3o A pEer &
(1) mifoems 12) fefonradf & rar a=r
(3) TR T FEY T (4) v &% fusd @957
ENVIORNMENTAL SCIENCE - 30 QUESTIONS (121-150)
121 | Which of the following is a biodegradable waste?
{1) Plastics {2) Polythene {3) Glass {4} None of these
121 | 35 feir fod faw & fenay § geadl 3818 &8 (biodegradable waste) & @ fenr 7 Faer & |
_ (1) usAfeR (2) T&fas (3) IEH (4) feas? fod @t &t
1?3 | Dachigam Mational Park is in which state?
{1) Himachal Pradesh (2} J&K {3) Tamilnadu 4] Sikkam
122 | grftans Fraedt wan faad aw ffe 3 ?
i1) fovras waew 12 ¥H Wi aaHTT (3) TTHESE i4) frfay
123 | Who started the Chipko Movement?
L {1} Kiran Bedi {2) 5. L Bahuguna {3} Medha Pathar _ {4) None of these
123 | “fau Wisees " fand gg dtar 7
(1) faas 5=t (2)HA. WS, ST (30 HO uFEd (4) feget fea &t &t
124 | When was PROJECT TIGER launched?
{1) 2011 {2} 1970 {3) 1973 {4) 2007
124 | iz zveftae o< gy dfewr ?
[ |1} 2011 (21970 _{3)1373 . {4} 2007
125 | How much percentage of water in the oceans is drinkable?
{1} 97.2% (2] 2.15% {3) 0.65% {4) 0.0%
125 | e o i yFhas vt Wiz @ard ¢
(1) 97.2% (2) 2.15% (2) 0.65% {4} 0.0%
126 | What is BOD?
{1) Biochemical Oxygen Demand in 5 hrs {2) Biochemical Oxygen Demand in 5 days
{3) Biochemical Oxygen Demand in 5 months {4) Biochemical Oxygen Demand in 5 minutes
126 | pop, &t ?
i 1) FETS diaE mraERtas §1HTE 5 ule i2) FES avias wranRtes 5iHE 5 few
(3) FETS ahftam mrartas #HE S WS i4) TES dvftas mrartas ghitE 5 fise
127 | What type of radiation is trapped on the earth's surface by the green house effect?
{1) UV rays (2] y -rays 13) K-rays {4) IR rays
127 | gat &t A9 3 adls TER § ygriea aee ot faust <fafes 4at 3 7
| lmyuvfemer 2y y fawst (3) X —fagzt (4) Ir fag=t
128 | London smog is found in?
{1} Summer during day time {2} Summer during morning time
{3) Winter during day time {4} Winter during morning time
128 | gmsdtdoae gdtd ?
(1) T fas fem & A 12 T faw T =8
(3 AgE fag fem & AH (4)AgEn o9 Aeg 28
129 | A tight whirlpool of wind formed in the stratosphere which surrounds Antarctica is called?
{1) Polar stratospheric clowd {2) Polar Vortex
{3) Both |1) & {2) {4} None of these
129

AHEY AE® e ae v 3 ged fvae Weaafenr §ud S8 3 Guataor@er 3 7
i1) %7 AZeveds a8SF i2) I5d =3¢an
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GeEwEa  WWWICTU IR G s o

130 | Bhopal gas tragedy occurred due to?
{1) Methane {2) Phosgene
{3) Methyl-isocyanate {4} Methyl amine
130 | Fue dim weer fae 575 wet 7
1) HiES i2) EAE (3) HIEE WEtREER e (4) HiEE MHES
131 | White lung cancer is caused by?
{1} Asbestos {2) Paper {3) Textiles {4) Silica
131 pmiciwwedwmfmasie
(1) SFEAETH i2) ing (3) SAAETES (4 fAfear
132 | Which of the following has greatest affinity for haemoglobin?
(1) cO {2} NO {3) 0, {4) CO,
132 | fegst i faw ot Hiedals sBs Ag F Tomraard 7
_ (1)co (2) NO (3)0, (4) co,
133 | The first nuclear disaster occurred in the history of world on
(1) 16™ August, 1945 (2} 26™ August, 1945  (3) 06™ August, 1945  (4) DB™ August, 1945
133 | A ¥ fedtow &9 ufos) uawg nuer &e" =nudt At 7
(1) 16 WdTHF, 1945 (2) 26 WgTHI, 1945 (3) 06 ™dTHS, 1945 (4) 08 »gTHI, 1945
134 | When did Supreme Court of India ordered Ministry of Environment & Forests to establish a special |
division to develop a green belt around Taj Mahal?
{1) 2004 {2} 1994 {3) 1984 {#) None of these
1M | gz @ FuEdvEE & I3 HiTE @ wE-owE adls e 5t Bl @ a=ds vid TaE'a iaaar
feEmimfea
(1) 2004 {2) 1994 (3) 1984 (4) foast fo 9t &0t
135 | Silent Valley, which has been raised to the status of Mational park, is situated in?
{1) J&K {2) Tamilnadu {3) West Bengal (4) Kerala
135 | yar wr (silent valley) T awedt vaa e wonr fear famr & G faa afaa @ 7
1) A MI EEHE (2) TTHE &7 (3) UFEHt SarE 14) FaET
136 | Which of the following device(s) is used to control particulate pollutants?
{1) Gravity settling chamber {2} Cyclone collector
{3} Fabric filter {4) All of the above
136 | gz yapHe § doe Bt do fah fed faus Gumees ot =ad ot wiet & 7
(1) Taf=t Fefdar 9HeT (T aors GlUe's a0 (2) FElas s abacd
137 | Noise pollution (Regulation & Control) Rules 2001 deals with?
{1} Noise pollution die to fire crackers {2) Moise pollution due to loudspeakers
{3) Noise poliution due to public address system {4) Both {2} & (3)
137 | Jur vapee (=fahimE w3 ay) fau 2001 fae &= fafua & 7
(1) werfipwt F 35 ueTES (2) 75 Aitad F 38T uagHES
_ (3) Fraeviae AFds uwael 3 35 uagEe mE2Em .
138 | Which book has been prepared by International Union for Conservation of Mature and Natural
Resources (ILUCN) conceming endangered species of plants and animals?
{1) White Data Book {2) Red Data Book {3) Blue Data Book {4) Nome of these
132 | gega mia geadl AAOst (IUcN) ¥ foeraa Bt Wigaaeed! fiw & gua T St dfoert wg

et & fEy fev faost fagw g dfiat o 7
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(1) =t 57 5a (ew e tagrar o1 WILMENL UL o o (arm ge fazm)

|| (30 ug Fer ga (&1ET e fagr 14) feaat fea &t &t
139 ThlE BISHNOI Sect was founded by
{1} B. R. Ambedkar {Z) Bhajan Lal
{3) Guru lambheshwar {4) King of Jodhpur
139 | fymEet fuaes fagd mofua dtar At 7
| (1) 5. w9 ideEd  (2) 395 &8 (3) I1g AHEE=E (4) 9T Ug &7 T
140 | High concentration of which of the following causes Ieaf curling, leaf drop and reduced leaf size in |
plants?
(1) 50, {2)co {2) NO, {4) None of these

140 | faws &9 fam &t G fearamar, U'am aafdar, mﬂwmmmWﬂﬁrmw
aaE =T d 7

i1} 50, i2) co i3} NO, 14) feast foa avt &4t
141 | Traces of radioactive waste present in water can cause?
| |f{ljCamcer = (Z)Eyecataract  {(3) DMA breakage (4] All of these
141 |yt fe'g e wrE e IgTeht l'.‘ﬂ' f&F® (traces of radioactive waste) l’qrwmla'!m?
a5
1) &na (2} Byt v qger i (3) DNA 1 22 82 i4) g fey e
142 | How much area is covered under forest in India?
. (1) 33.47 % {2) 29.47 % (3}22.47%  (4)13.47 %
142 | grg= fi's g ﬂ'ﬁfﬁ‘l{il'lﬂ?i ?
{1} 33.47% {2} 29.47% {3} 22.47% {4) 19.47%
143 | The Greenhouse effect was first recognized by?
{1} lean-Baptiste Greenwood {2} lean-Baptiste Fourier
{3} Jean-Baptiste Greenhouse {4} None of the above
183 | gty @R € ygr= & uere A 7 ufost fdS &t ¢
i1} Ftw-Gufere THiaey i2) Him-fufere fawm
i3) wa-fufere adts 8w 14) feast foF adt &at
' 144 | Which of the fulluvnrg is respurﬁ'b.le for gluhal wan;ll;ig'_f_ =
{1) Chloro-flouro carbons {2} Methane
{3) Carbon dioxide {4) All of these
144 | 35 fefimit fod T8ws waffar o d= fivea 3 7
|0 wEI-gEI AR (2) fWEE (3) EIEE SEMEHTEE 14) 8z fay A
145 | Which of the fnlluwmg acid is pn!serbt in Acid rain?
{1) HND, [2) H,S0, {3) CH,COOH {4) Both (1) & (2)
145 | G5 fefunt fod' sniste wour 28 fags 3vg wfenr wher 3 7
(1) HNO, 12} H,50, (3} CH,COOH 4) T (1) M (2) |
146 | The situation of depletion of Dzone layer is referred as OZONE HOLE, if the ozone level decreases
below
{1} 200 DU (2) 400 DU {3} 200 DU {4] None of these

146 | Fwa Mia Had (Ozone layer) fer T <1 3ot wed ot 3t fagd o3t g #9s o wedt vag
W T8 Wt AvEa 7

{1) 00 DU {2} 400 DU {3} 200 DU (4) fege feg vt &t
147 | Which of the following is a non-governmental organization dedicated to wildlife conservation?

{1} World Wildlife Fund for Nature, INDIA {2} Indian Board for Wildlife

13) National Wildlife Action Plan ___{4) All of these

187 | 3 fafwt fed faasr danaarat wewdr Aars! die afinr Bt TUsET T 7
i1) 3= fog Ara © goadt JOEt diet Bvt &F (2 Fite ftpuir BET T3St GaF




(3) e FaE e aa R e L TeTT QT s ey

et ?
{1) 1967

{2) 1969

{3} 1971

{4) 1973

148 | Everyone has the right to a Nationality is covered in ..o of Universal Declaration of Human |
Rights 7
(1) Articie 10 {2} Article 15 (3] Articie 20 {4) Article 25
B R agediar o d 8T fea dlmzr wa ot It &8 fBut I8 3 (universal
declaration of human rights)
(1} »aetas 10 i2) WS 15 (3} raEtES 20 14) WraETES 25
| 143 | Ten percent law is given by
{1} Lindmann {2} Goldmann {3} Beckmann (4} Nonie of these
143 | ow tFﬂHE'l‘ﬁ'; {Ten percent law) fAR & fio'ar 7
i1} fégais i2) IBTHE i3} 5 W 14) feast foa avt &4t
150 | Environment Impact Assessment(EIA) was formally established in USA in year
[ |17 (2) 1969 (Bl1971  (4)1973 .
150 | yravwes Ywiwd Ae@Y (Environment impact assessment) nffgtar fa'e faoi i rerfue ottt
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NOTE: 'H-”I-"I-”I-V,FEL"?"HH'ME'HI’.EIHF'H

{i} There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
guestions, There are 90 questions in total in Section—A in which the Child development and pedagogy is
bilingual.

{ii} Section B comprises of Mathematics — 30 questions and Environmental Studies — 30 questions. The Section - B
iz bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30) |

1 | The best method to study growth and development of the child is:

{1) Psychoanalytic Method {2} Comparative Method
{3) Developmental Method {4} Statistical Method
1 | g9 = fauft o feaw e wifivis @es ©f ig 3 =t fet & '
1) Ha-femEE="ava feut (2} FEEIHE et
i 3) feamrave feat i4) Aifiorat et
2 | Socialization is a process by which children & adults learn from:
{1) Family {Z) School {3) Peers (4] &ll of these
2 | mrditaas fea yfer 3 fan ot o9 w3 e faw 3 e a5
i1)ufe=g i2) A (3} TH-TITET ATET i4) GudEg AT Ot
3 | Which one of the following is the true statement corresponding to Cephalocaudal Principle of
Child's Development:
{1} Development is from head to foot {2) Development is from foot to head

{3) Development is from middle to periphery |4} None of these

3 | g9 @ fean & fim-uemdt fruta & wags faas aus et &
ifeawfmTilmsmded i2feawimsfmaades
(3) fearm U F G F Jer T (4 feryt e et <

4 | Determinants of Individual differences in human beings relate to:

{1) Differences in Environment

{2) Differences in Heredity

{3} Interaction between Heredity & Environment

{d) Both Heredity & Environment interacting separately

1 | ygyt feg fadt vaget @ fsaoram faw &5 Mifoz om:
i1} ufger=as fea wiaa

i2) feams feg vi=g
i3} feammg w3 ufew=a= foa Wigafasr
i4) TY Ty IF &F WIlar @9 3 F= =TT wiF ufewrsas
5 | Term PSRN in development implies:
{1} Problem sobving, reasoning & numeracy {2) Problem solving relationship & numeracy
A3} Perneptital sk, recsormg i mungrscy (4] Perceptual skill, relationship & numbers !

5 | femrw fo9 PSRN UE © HIEBY &
{1) Problem Solving, Reasoning & Mumeracy {2) Problem Solving Relationship & Numeracy
{3) Perceptual 5kill, Reasoning & NMumeracy {d) Perceptual 5kill, Relationship & Numbers

6 | Vygotsky proposed that Child Development is:

{1} Due to genetic components of a culture {2} A product of social interaction

{3) A product of formal education {4) A product of assimilation & accommodation
& | fedanat e gy At fa o= feam &

(1) fmfa=t @ v=fag 23t T9s (2 ) AHYE wZafamr ot G

i 3 Guaraw fafusr 2t Gus i4) AHlaEs w3 wigass = Gud
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7 | Gardner formulated a list Bf SEvdn WMMH& the following is not one of them:
1) Spatial Intelligence {2) Emotional Intelligence
{3) Interpersonal Intelligence {4) Linguistic Intelligence
7 | grawsd & Ao ¥ Ot & gt wavet | 3o fefumt few fea faost &0t &
(1) AETfAE gt i2)TEIHE O (3) HiFe-fonmfaa gt i4) ITEET g0t
3 Which of the following is the true statement in reference to intelligence:
11} Intelligence is the ability to adjust 12) Intelligence is the ability to learn
{3} Intelligence is the ability of Abstract Reasoning {4) All of these
8 | gt & i o farasr e met &
(1) 50 WEgs g9 2 GaaT J i2) gt fAus &t farar 3
(3) 5Ot FYH Fou =t g J (4) SEET ATt
g | “A Child can think logically about objects & events” This is the characteristic given by Piaget of stage:
{1} Sensory Motor {Z) Pre Dperational {3} Concrete Operational {4) Formal Operation |
9 | “ggr wEget WS weETEt W Fratem war A5 e Fer 31" few faiar e w8 ot noemr |
=t fe gt ot &
(1) F=et ima (2) yga-FaEat (3) FES Rasat 14) Ehaaw FeEs
10 | Which of the following does not belong to the categories of Coping strategies that women
commonly engaged in:
{1) Acceptance {2} Resistance [3) Revolution {4) Adaptation
0 | fausr Gt Ao gaiat € y=aart &8 Al &dT dver fan fea slaat s 39 3 wage afddint o
| i A (2) yfza D L (4 wEEEE
11 | What should be the role of teacher in meeting the individual differences:
{1} Try to know the abilities, interest & aptitude of individuals
{2} Try to adjust the curriculum as per the needs of individuals
(3] Both (1} & (2)
{4) None of these
11 | f&Ht vwase aes s€t mftemum 2t at gha 32t aiet &
(1) gt St Gargr=T, gt W3 yf=aat § =
i2) fewEami  Tiw 83t wigRe Ueay § 9827
(3 e (LT (2)
i4) Sugas fea aet 2t &t
12 | If a child has mental age of 5 years & chronological age of 4 years than what will be the 1Q of child: |
{1} 125 {2} 80 {3} 120 {4} 100
12| & fewr o9 € sl »ig 5 A8 o= arEgiiE oy 4 A8, 3t 8§ BT 1g ot 32am
[ |M)12s (2} &0 (3} 120 {4) 100
13 | Which of the following is not the tool for Formative Assessment in scholastic domain:
{1) Conversation Skill {2) Multiple Choice Question
{3} Projects {4) Oral Questions
13 | fafiprave Uae few aueavm Wetae o Guaes faaer &0t &
(1) FEIEY eSS i2) 5g-feamit 9= =8 yWws
(3) vae i4) Hfva yaS
14 | A few students in your class are exceptionally bright, You will teach them:
{1} Along with the class {2} Along with higher classes
{3) By using Enriched programmes {d) Only when they want
14 | goat aew feu gy fefenradt foiim 39 3 guhrs &) AT G5F & ugraar:
(L EEHETEE (2) G AEH &S
(3) Afg far St SaT =9 & (4) 58 G AT Qo 9T=
15 | The major purpose of diagnostic test is that of Identifying:




{1} The General area of wﬂ-‘:ﬁggﬁrr{g;pﬂr‘;mrﬂu FH
{2} Specific nature of remedial Programme needed

{3) The causes underlying academic difficulties

{4} The specific nature of pupil difficulties

15 | feerfew udhye o Wy fia= far Et ue= aaar &
(1) %R ¥ UTans =9 avadl & ias 499 (2) 82Ty Gusrdt {@py =t f=ig ufsast
(3} wEreiE WRlEET © a9 (4| fefomragn & yafasT ©f fomm yfagar
16 | Special education is related to |
{1) Educational for talented students {2) Educational programmies for disabled
{3) Training programmes for Teachers {4} Training programme for retarded
16 | feiw fafimr faw &8 Aifo= &
(1) uygT fefewragit &t R &y 12 ) foama fefenrager &t fAfier Tary
17 | In CCE, Formative & Summative Assessment totals to:
(1) A0% & 50% respectively (2} 60% & 40% respectively
- (3) 50% & 50% respectively {4} None of the above
17 | ¢ c E fyw, TesavE wE AESEave JBtas T O AW O
(1) FH=TT A0% T 60% (2} ST 60w T A%
(3} EH=TT 50% BT 50% 14} Emez fea avt =t &1
18 | Frobel's most important contribution to education was his development of the:
{1} Viocational school (2] Kindergarten {3} Public School {#) Latin schoaol
18 | giw o fefier § P 3 w0 v wyEs temers @R e
11) fe=ries Fas = feaw A& 12} férwaaraes & feam A
13) y=fea raE o feaw A i4) Bfew ras e feaw A
19 | Which article enjoins that "All minorities whether based on religion or language shall have the
right to establish & administer education institutions of their choice®
(1} Article 29{1) (2} Article 29(2) (3} Article 30{1) {4} Article 30{2)
13 | faax migew fou fog o= fa, “md simu-ffiee 973 G0 o9 3 wofag o= 7wy Gy, |
&t & wruzt uie 2t &t o A Aefue W EriRe aes o wifoee O
(1) eEeT 29(1) i2) wEEw 29(2) (3} WEET 30(1) (4) wEET 30(2)
20 | If a child writes 16 as 61 & gets confused between b & d, this is case of:
{1} Visual Impairment  (2) Learning Disability  (3) Mental impairment (4) Mental Retardation
W | Fawreld i fmmr Ing bud d e Geg wierd, few fameram &
| (1) fewet feamg i2) Ay fagiarar () Walne feag (4) WalAd »edg
21 | Asateacher what technigues you would follow to motivate students of your class:
1. By setting induction 2. Useof black board
3. By illustration 4. By active participation of students
{11,283 {21184 (31284 {4] All of these |
21 | nifgeruer =67 AT w2t aew & fefenradit § Ufag aas =wa faodet saslat &t =53
LCL L
YA = Read & 2 58w §a9F o =493
3 fewerat ot 4 fefonradinf S FaaeH BEETHT Tt
(1)1,2™3 3 21 ™ 4 (3) 2w 4 (4) GuFEg Fra Ot
22 | What are the factors related to learner that effects the learning:
(1) Physical & Mental health of the learner {2} Level of aspiration & achievement motivation
{3) Readiness & Willpower {4} All of these
2

faftmradt & Mifog faad araw o5 faad e Gue »omg w@e o




(1) et = e i W] R TITRTIL T T
(2 wiE T W GUSETT wifalEa & UTa

(1) IR niF FET-Faat

i4) §ugag Ara ot

Cognitive Development means:
{1} Development of intelligence {2) Development of child
{3) Development of Physical Skills {4) Development of individual

Hfamraave feerm e vasy &
(1) 50t = fzaw (2) 99 = fzam
i 3) Adtad FEEaT = feary i4) fewast o feam

Creative writing should be an activity planned for:

{1) Onky those children reading on grade level

{2) Only those children spell & write cohesive sentences
{3) Only those children who want to write for newspaper
{4) All children

FeaTavy vz few astfdht B2t eafteht 3 o ot G fagt &t
Naesuae e dEdss s w T

i2) 5=5 97 ¥v fvog mee-g »iF fuas = foy few 15

(3 5% 57 ¥% wHTd B By g an

(4)Fd B

Which of the following are the External Factors affecting the interest of students in classroom:

{1) Emotions & Sentiments {2) Culture & Training

13) Attitudes of students 4] Goals & motives

wERgH faw fafenradt 2t fomemit § e wos i woed aow foow o=

(1) T niF Goarg i2) Arfa=t i frusrat

13} fefomraginr Tt Ufeastr (4w T §TF |
An intelligent student is not doing well in studies. What is the best course of the action for the teacher:
{1} Wait till he performs better {2) Find out reason for his under achievement

{3) Give him grace marks in the examination |4} Ask his parents to withdraw from school

mmmm#nﬂrnhmmmmmmrhammt
i 1) i fag 8% v uans 9939 5t 7 70, O g ffaag ag

(2) §7 & we Gumgnt T aan WEH ag

(31wt fg G0 & fawnfeat wia fed

14) &7 & wiimi § @9 fa 89 § Fas (o9 o &=

The term Identical Elements is closely associated with:

{1) Séimilar test questions {2) lealousy between peers

{3) Transfer of learning {4) Group Instructions
TS o & ue v faweay AT fan &8 &

(1) AW Ui Uas i2) TH-T=% femas fayr

(3) iy & oA es (4) Ay fAfyr

Who was the pioneer of Classical Conditioning:

{1} Skinner 2] Paviow 13} Watson {4} Thorndike
HEHIET WEEES ©F Ud=daw 22 HE:

i1) AfaEg i2) == (3) FeRE (4) BamaE

It is said that teacher should be resourceful, This means that:
{1) He should have emough money & property so that he may not have to take up tuitions
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{2) He should have contactshith heHaanba Ll MR Wr& be harmed

{3) He should have adequate knowiedge so that he may be able to solve the problems of students
{4) He should have good reputation among students so that authorities may not be able to take any
punitive measure against him

e faar wier & fa ‘wifmrue ros-Ails J=r adter 37 fem e vasw o fa

i1 87 &% @ UFr g arfeee 7= fa Bn § fe8ns & agatat =

iz g e wfmaem e me T2 T fe SR o sars o T /e

(3) 87 8% Suwas famrs 7= =t fa G fefowradter S Riifrmrst § 78 a9

i4) 6w =t fefowadter fog 9t ufaes 7= 3 fa wiftat 67 ¢ fuse a9 S9ave aa="et &7
&7 A=

Which of the following Motives are considered as primary motives:
{1) Physiclogical Motives {2) Psychological Matives
{3) Social Motives {4) Educational Motives

faas yowat § yafie yaas fagr ater 3
(1) Aata-fefamas yaas (2} WA= amaE UHas
(3] AHHE Uads 14 ) fRftmravT UGas

ENGLISH LANGUAGE — 30 QUESTIONS (31-60)

| Why are experts, according to the passage, looking at the sun as an energy source?

Read the passage carefully and answer the questions (0. 31-37) that follow by choosing the best
alternative:

In these times of worldwide skyrocketing energy costs, experts are turning to perhaps the only
energy source that is still immune to price fluctuations: the Sun. Economic necessity appears to be
largely responsible for the rapidly growing acceptance of solar heat as an alternative source.
Electricity has been a clean and versatile form of energy that continues to grow in importance for
lighting, heating and cooking, and for powering our increasingly automated and computerized
society. The demand for electricity is expected to grow more in future than the average trend in the
past. A mix of energy sources is required as hedge against shortages in any one area, and the
electricity supply companies are taking a second look at renewable generating technologies,
particularly those based in the sun. Every 15 minutes, the sun delivers to earth radiant energy to
meet all mankind's power needs for a full year. But harnessing this energy is complicated by two
properties of sunlight: its diffuseness and its variability with time of day, season and weather
conditions. These factors pose formidable technical challenges for the efficient conversion of solar
radiation into bulk, utility grade electric power. Nevertheless, solar technologies are attractive to
utilities because they are environment-friendly and offer a low regulatory risk, limited capital risk,
and less lead time.

{1) due to depletion of other sources of energy
{2} as other energy forms pollute the environment
{2} increasing costs of other sources
{4} all of the above

Experts are impressed with the solar energy technologies because...
{1} of them being good for the environment {2) they reguire less investment
{3) they can be employed in quick time {4) all of these

i3

Why is sun such an important source of alternative energy?

{1} it is available free of cost

{2} it is available everywhere in the world

{3} it can satisfy human energy requirements alone if tapped properly
{4} all of these

What is the major dil’ﬁcuh{r?n emplur;ing solar ener“.'::
{1} fluctuations in weather {2) by nature sunlight is diffuse




|3} sunlight varies from timlk &8 tifd €C T U ITHTen IM'H these

35 | Why are power generating companies looking at mix energy options?
{1} the sources of energy are getting scarce but demand is increasing
{2) government is controlling prices of electricity
{3) alternative sources of energy are available free and without regulations
{4} all of these
Identify the word closest in meaning to the word: "VERSATILE™
{1} limited {2} resouwrceful {3} permanent {4} invariable
Identify the word opposite in meaning to the word: “FORMIDABLE"
{1} alarming {2) frightening {3) terrible {4} insignificant
Read the passage carefully and answer the questions [0. 38-45) that follow by choosing the best
alternative:
The political system always dominates the entire social scene; and hence those who wield political power
are generally able to control all the different social sub-systems and manipulate them to their own
advantage. The social groups in power therefore have always manipulated the education systems,
especially when these happen to depend upon the state for their very existence to strengthen and
perpetuate their own privileged position. But herein lies a contradiction. For the very realization of their
selfish ends, the social groups in power are compelled to extend the benefits of these educational
systems to the under-privileged groups also. The inevitable task is generally performed with three
precautions abundantly taken care of: One, the privileged groups continue to be the principal
beneficiaries of the educational system, dominate the higher stages of education or the hard core of
prestigious and quality institutions or the most useful of courses, so as to safeguard their dominant
position of leadership in all walks of life; Second, the system is so operated that under-privileged groups
can wtilize it only marginally in real terms and the bulk of them become either dropouts or pushouts and
get reconciled to their to their own interior status in society; Third, the few from the weaker section that
survive and succeed in spite of all the handicaps are generally co-opted within the system to prevent
dissatisfaction.
Who, according to the passage, can manipulate the systems to their advantage?
{1} social activists {2) popular people {2) pelitical powerful people {4) all of the above
How do socially powerful people try to maintain their privileged position?
{1) by maintaining control over political systems {2) by maintaining control over social systems
{3) by maintaining control over education systems  [4) all of these

40 | Why underprivileged sections have to reconcile to their inferior status?
{1) they are unable to effectively utilize the education system
{2) they have no interest in the system
{3} they are illiterate

| 14] all of these ) )

41 | Which is the best explanation as to why the few from the weaker section that survive and succeed
in spite of all the handicaps are generally co-opted within the system?
{1} to prevent the revolt in the society {2} to satisfy their instinct
{3) to augument the position of the privileged class (4] all of these
Which system, according to the passage, dominates the social system?
{1} political system {2} education system (3]} caste system {4) monetary system
Identify the word closest in meaning to the word: "PERPETUATE".

| {1} abort (2) ruin (3] continue _(4) omit

44 | Identify the word opposite in meaning to the word: "PRESTIGIOUS®.
{1} obscure {2) influential {3) esteemed (4] impressive

45 | What is the major idea reflected in the passage?
{1} powerful people are unable to fully control the system
{2) major benefits have been snatched by the underprivileged
{3] both of these
{4} none of these

46 | While writing a notice, the writer should prefer...

{1} active voice |2} passive voice {3) any voice {4) none of these




47 | Where will you add discladurtsind letebdd [T THETL L TUTH
{1} below the signature and the right side margin =~ {2} below the signature and the left side margin
{3) above the signature and the right side margin {4) any of these
‘Phonetics’ is basically associated with...
{1} sounds (2} sentences (3} grammar (4} all of these
Remedial teaching...
{1} fills the gap that creeps into a pupil's learning
{2} rectifies the concepts which have been misunderstood
{3) helps in retaining homogeneity in the class
{4} all of these
50 | Learning a language is a...
{1} gradual process {2) fast process {3} instant process {4) all inclusive process
51 | Study of meaning in a language is known as...
{1} syntax_ [2) semantics (3) marphology (4] linguistics
52 "REGISTER" is...
{1} variety of language according to region in a particular country
{2) variety of language according to countries
{2} any of these
{4) none of these
Jmy sound in the word ‘make’ is...
{1} labio-dental (2} dental (3] bilabial {4] alvealar
Which of the fuiluwlfg organs crfspeed\ ks also known as 'WVELUM?
{1) hard palate {2) voice box (3} alveolar ridge {4) soft palate
55 | The major difference between an "ARTICLE' and "SPEECH' is....
{1) speech is more formal (2} speech is more informal
{3) speech is more descriptive {4) all of these
56 | Communicative Language Teaching replaced basically...
{1) Matural Language Processing {2) Structural Teaching
{3) Situational Language Teaching vy _l4] Motivational Teaching
57 | Find the word nearest in meaning to : - REMORSE
{1} obdurate {2} hard (3) penitent {4) none of these
Find the word opposite in meaning to : INSIPID
{1} impalatable {2) bland {3) tame {4} savoury
Identify the correct passive voice of the sentence: Obey me.
{1} I should be obeyed {2) Let | be obeyed
{3) both, aand b {4) none of these
60 | Find the appropriate preposition to fill in the sentence: She lives ....... Mumbai.
{1) at {2} in {3} into {4) on

PUNJABI LANGUAGE - 30 ﬂUE‘I’IDNE {_El HI-}

hfﬂﬂiﬁaniiﬁﬁquwﬂ'ﬂMhﬂlﬂ'ﬂﬁ[q.smsp

nd A8 RN & T&2 B8R I 21 7 3% @ frost ag ae o= 9 € JaH F ufust #h oy
ga=a= wuE fo ot Beraet = 7 o4t 7 AR € 5319 503 fovrse foas o0 05 5o, 938w,
famerama, Taedtel W =AMz o EEWET 7 famr 71 s &1 femmateid ve aet O wa
dE-Tauyrs dfmr TifcormariRsE mes s dfer DI ve i GaRt ST T A HE 4
& waed g2 fe = 1 wiiewr fea et a9s 261 09 few 39t o arfea-aaried Idtar safawr ar far
a1 fm fog sufesi & SEhatt W odgatt JEtel T 3ot o) ful-use wa
Fo=t-gI=t ©f Ffeee ¥TET BE 998 ¥ Ugw Fet 71 feaa-arfaer few fuse wat ot faw
& fife =7 Uhit-U=g G403 T JF T% W Wi 27 siunms &13T 7 fagr 31 97 o &t w3 58t
W S 5, IS T Sut ATE U § S TErEaE S weste St AT = s )
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